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Multiplicacion (Vertical) Nombre:
Resuelve cada problema. Respuestas
) 2,756 2 8,014 3 6,455 4)  7.542 X
X 2 X 4 X 6 X 3 '
2.
3.
4.
5 6,512 6) 5,441 ) 7,686 8 7,544 i
X 8 X 7 X 6 X 5 '
6.
7.
8.
9 5,950 100 3,279 1) 5,974 12) 5,699 .
X 9 X 5 X 3 X 8 '
10.
11.
12.
13 4,662 14) 5195 15  7.899 16) 4,126 .
X 8 X 8 X 3 X 8 '
14,
15.
16.
1) 1,967 18) 4,779 19 2141 200 1,373 .
X 9 X 5 X 4 X 6 .
18.
19.
20.
,y 1-10 195(90(85|80| 7570|6560 |55 |50
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Multiplicacion (Vertical)

Nombre: Clave De Respuestas

Resuelve cada problema.

)  2.756 2)
X 2
5,512

5 6,512 6)

52,096

9 5,950 10)

53,550

13) 14)

4,662

37,296

17) 18)

1,967

17,703

8,014
X 4

32,056

5,441

38,087

3,279

16,395

5,195

41,560

4,779

23,895

3 6,455 4)
X 6
38,730

) 7,686 8)

46,116

11) 12)

5,974

17,922

15) 16)

7,899

23.697

19) 20)

2,141

8,564

7,542
X 3

22,626

7,544

37,720

5,699

45,592

4,126

33,008

1,373

8,238

10.

11

12.

13.

14.

15.

16.

17.

18.

19.

20.

Respuestas

5,512

32,056

38,730

22,626

52,096

38,087

46,116

37,720

53,550

16,395

17,922

45,592

37,296

41,560

23,697

33,008

17,703

23,895

8,564

8,238
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